2020 04 08 1

Batsystem PMR20045 - Mounting instructions

N
Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097, www.

batsystem.se, info@batsystem.se

Detta behoéver du: <
You will need this:

)

if?i@@-'@ -

X2 x3 X2 x12 x2  x12  xi12 X2 X2 g22
8 25 2

M8x30 M8x16 M8x16 M6x25 M

O 0P DOO® O Q@ U

222, 600

e

@

x1 m

See page 2

Se blad 2/
See page 2




2020 04 08

M6x35




